GENERAL BID TABULATION - The C. T. Brannon Corporation CONSULTING ENGINEERS & PLANNERS P.O. BOX 7487, TYLER, TEXAS 75711, 903/597-2122 Mineola Independent School District

Parking and Bus Lane Improvements Primary and Middle School Bid Date: June 25, 2013 at 2:00 p.m. at MISD

A. E. Shull & Company (4) PO Box 130365 3457 Shiloh Road Tyler, TX 75713 3501 Token Drive, Suite 100 Tyler, TX 75707 L & L Asphalt Corporation (3) Richardson, TX 75082 CONTRACTOR Gallagher Construction Services (2) TOTAL BID 417,605 PS 711,275 60 TBC# 13064 **Bid Bond**

Mineola, Texas 6/18/2013 The Brannon Corporation 13-064 Estimated TOTAL PRICE UNIT PRICE ITEM NO. DESCRIPTION AND UNIT PRICE Quantity PAVING and DRAINAGE IMPROVEMENT ITEMS: 11s \$10058.66 \$ 10058.66 Construction layout staking by RPLS as needed for clearing, 01050 storm sewer, paving, and all necessary items, for Dollars and Cents per lump sum 11s \$ 8820.96 \$ 8820.96 02000A Furnish and Install permanent 4-Inch wide white parking lot stripes and markings, without glass spheres, using TT-P-1952 Water Emulsion Base paint, complete and in place, for Cents per lump sum 1LS \$2541.41 \$ 2541.41 02000B Furnish and install permanent 4-inch wide BLUE lane line stripes and markings, for Football Stadium staging lane, without glass spheres, using TT-P-1952 Water Emulsion Base paint, complete and in place, for WARDIN Dollars and Cents per lump sum 1LS \$17786.66 \$ 17786.66 Furnish and install permanent pavement marking and 02000C directional arrows, without glass spheres, using TT-P-1952 Water Emulsion Base paint, complete and in place, for m. hundred Es fit Sig Dollars and Sixth Cents per lump sum 22 EA \$ 402.36 \$ 8851.62 02000D Furnish and Install permanent traffic signs with posts, complete Cents per each 3 EA \$ 387.63 \$ 1162.88 02000E Furnish and install permanent handicap signs with posts, complete and in place, for

	ola, Texas		6/18/2013
	Estimated Quantity	UNIT PRICE	TOTAL PRICE
Furnish all labor, tools, equipment, supervision, and any other requisite necessary for site preparation, including, but not limited to, clearing and grubbing of trees, bushes, undergrowth, stumps, and other vegetation, removal of concrete, and relocating of signs back of proposed curb complete and in place, for	0.75 AC	s 11663.33	s_8740
Dollars and Thirty Thus Cents per acre Remove existing concrete curb and gutter, complete and in place, for		s <u>4.49</u>	s <u>6913,98</u>
Dollars and Fonds Min Cents per linear foot Remove existing concrete driveways, complete and In place, for	249 SY	s <u>11.26</u>	s_2803.94
Dollars and Thermy Sur Cents per square yard Remove existing asphalt pavement and base, (Salvaged base material may be used for select borrow), complete and in place, for	1,193 SY	s 4.64	s <u>5531.70</u>
sign, complete and in place, for			s <u>2698.67</u>
control, complete and in place, for		: 2453.33	s 2463.33
Dollars and Thing Thus Cents per each	700 LF	\$ 7,05	s <u>4937.33</u>
	The Brannon Corporation 13-084 DESCRIPTION AND UNIT PRICE Furnish all labor, tools, equipment, supervision, and any other requisite necessary for site preparation, including, but not limited to, clearing and grubbing of trees, bushes, undergrowth, stumps, and other vegetation, removal of concrete, and relocating of signs back of proposed curb complete and in place, for Dollars and Thirty Thura Cents per acre Remove existing concrete curb and gutter, complete and in place, for Dollars and Tenny Stu Cents per linear foot Remove existing concrete driveways, complete and in place, for Dollars and Thirty Stu Cents per square yard Remove existing asphalt pavement and base, (Salvaged base material may be used for select borrow), complete and in place, for Dollars and Sixty Form Cents per square yard Remove, salvage, relocate, and re-install existing school pole sign, complete and in place, for Thirty Third Such Such Cents per each Install and maintain stabilized construction entrance for erosion control, complete and in place, for Dollars and Sixty Such Such Such Such Such Such Such Such	Estimated Quantity Furnish all labor, tools, equipment, supervision, and any other requisite necessary for site preparation, including, but not limited to, clearing and grubbing of trees, bushes, undergrowth, stumps, and other vegetation, removal of concrete, and relocating of signs back of proposed curb complete and in place, for **Dollars and Harmy Musa** Dollars and Forty Minimum Dollars and Forty Minimum Cents per linear foot Remove existing concrete driveways, complete and in place, for Dollars and Forty Minimum Cents per linear foot Remove existing asphalt pavement and base, (Salvaged base material may be used for select borrow), complete and in place, for Dollars and Suth Forty Dollars and Suth Forty Cents per square yard Remove, salvage, relocate, and re-install existing school pole sign, complete and in place, for The Minimum Sutherman Sutherman Dollars and Sutherman Sut	Description And Unit PRICE Estimated Guantity Unit PRICE

Mineola, Texas					
	The Brannon Corporation 13-064 DESCRIPTION AND UNIT PRICE	Estimated Quantity	UNIT PRICE	TOTAL PRICE	
02005H	Furnish, install and maintain inlet sediment traps for erosion	8 EA	s 613.33	s 4906,67	
02005J	Control, as required, Sty harded Thattern Dollars and Thirty Than Cents per each Furnish, install and maintain inlet guiter buddy for erosion control, as required, Sty harded Tax harded	B EA	s <u>613.33</u>	s <u>4906,67</u>	
02005K	Dollars and Turk Turk Cents per each Salvage, stockpile and replace existing topsoil on parkways and In landscape areas, complete and in place, for	1 LS	s <u>5888</u>	s _5888	
02200	Dollars and Cents per lump sum Furnish all labor, tools, equipment, supervision, and any other requisite necessary to perform unclassified site excavation, (density control), (Includes 154 cy for possible undercut), complete and in place, for	2,700 CY	0 2 26	s <u>56303.77</u>	
02221	Dollars and Cents per cubic yard Provide and Install select borrow (density control) from off-site (12-inch depth) to six-inches back of curb for improved subbase material in parking lot, (Minimum CBR=10%) (Quantity calculated on 4372 SY), (Includes an additional 154 cy for undercut), complete and in place, for	1,611 CY y	s <u>33.12</u>	\$ <u>53356.31</u>	
02484	Dollars and Cents per cubic yate Furnish and install Bermuda block sod grass, with fertilizer, complete and in place, for Www.	1,625 SY	\$ _9.81	s 15946.66	
02485A	Dollars and Sund One Cents per square yard Furnish and apply seeding for erosion control as required, complete and in place, for One hand Sent Chro Dollars and Sent Chro Cents per pound	20 LB	* <u>171.73</u>	s <u>3434,67</u>	

		na, rexas		6/18/2013
ITEM NO.	The Brannon Corporation 13-064 DESCRIPTION AND UNIT PRICE	Estimated Quantity	UNIT PRICE	TOTAL PRICE
02485B	Furnish and apply fertilizer for erosion control as required, complete and in place, for	200 LB	s <u>2.76</u>	s552
02503A	Dollars and Centry-Six (ent) Dollars and Cents per pound Furnish and install 2-inch compacted thickness Type "D" HMAC surface course on new parking lot and drives (Quantity measured on 3,737 SY + 10%=4,111 SY) complete and in place, for the hundred for Mine	453 TN	s <u>149,65</u>	s <u>67792.95</u>
02503B	Dollars and SIXTY FIVE Cents per ton Furnish and install 4-inch compacted thickness Type "B" HMAC base course on new parking lot and drives (Quantity measured on 4-inch depth: 3,254 SY + 10%=3,580 SY and 5.5-inch depth: 483 SY+,10%=532 SY), complete and in place, for MANAGE ATTACH TOWY	949 TN	s 154.86	s 146677, 41
02511	Dollars and Cents per ton Furnish and install seal coat surface treatment with 2 courses of rubberized coal tar pitch emulsion, complete and in place, for	53,645 SF	s 2.43	s 130292.95
03015A	Dollars and Arry - Hyru Cents per square foot Furnish and install standard 8-inch reinforced concrete curb and gutter, complete and in place, for	2,287 LF	s <u>23:3/</u>	s <u>53302.74</u>
03015B	Dollars and thirty one Cents per linear foot Furnish and install standard 6-inch reinforced concrete curb, complete and in place, for	65 LF	s <u>23,31</u>	s 1514,93
03015C	Dollars and HNVY M Cents per linear foot Furnish and install standard 4-inch (5-ft wide) reinforced concrete sidewalk, with thickened edge, complete and in place, for Dollars and fifty two Cents per square foot	558 SF	\$ <u>5.52</u>	\$ 3080.16

Mineola, Texas					
ITEM NO.	The Brannon Corporation 13-064 DESCRIPTION AND UNIT PRICE	Estimated Quantity	UNIT PRICE	TOTAL PRICE	
03015D	Furnish and install standard reinforced concrete driveway, complete and in place, for	45 SY	\$ 44.16	s <u>1987.20</u>	
03015E	Dollars and Six tem Cents per square yard Furnish and install new standard pre-cast concrete wheel blocks, painted, complete and in place, for One hundred ninety six	3 EA	\$ 196.27	\$ <u>588.80</u>	
03015F	Dollars and twenty feven Cents per each Furnish and install standard ADA concrete public curb ramps with 6-inch curbs, complete and in place, for	1 EA	s <u>981.33</u>	s <u>981.33</u>	
150 6 8A	Dollars and HIMY HMCC Cents per each Furnish and install 18"x18" concrete catch basin or 24" dia Nyloplast catch basin, with traffic rated grate, with 18-inch wide concrete apron, complete and in place, for NOL HIM COND	5 EA	\$1208.27	\$ 6041.33	
150688	Dollars and twenty fever Cents per each		\$ <u>1748</u>	s <u>1748</u>	
15068C	Dollars and No Cents per each Furnish and install 36"x36" concrete junction box, or 36" dia Nyloplast catch basin, with traffic rated grate, with 18-inch wide concrete apron, complete and in place, for	1 EA	s <u>2484</u>	<u> </u>	
15068E	Dollars and NO Cents per each Furnish and install 6-ft. concrete curb inlet, complete and in place, for Welly two thousand eighty eight Dollars and Ninety six Cents per each	1 EA	\$ <u>2</u> 288.96	s 2288, 94.	

		na, rexus		6/18/2013
ITEM NO.	The Brannon Corporation 13-064 DESCRIPTION AND UNIT PRICE	Estimated Quantity	UNIT PRICE	TOTAL PRICE
15068E	Modify, raise to final and adjust exsiting 24"x24" concrete catch basin and grate, with traffic rated grate, with 18-inch wide concrete apron, complete and in place, for	1 EA	s/257.33	\$ <u>1257.33</u>
15071A	Dollars and thirty - thra Cents per each Furnish and install 8-inch HDPE ADS N-12 pipe, or PVC pipe, or HP pipe, with crushed rock embedment, complete and in place, for TWAY SWEN Dollars and Nity two Cents per linear foot		s <u>27.62</u>	\$ 5442.03
	Cents per linear root	141		
15071B	Furnish and install 10-inch HDPE ADS N-12 plpe, or PVC pipe, or HP plpe, with crushed rock embedment, complete and in place, for	20 LF	\$ <u>30.85</u>	\$ 617.01
15071C	Dollars and ELGNA Ave Cents per linear foot Furnish and install 12-inch HDPE ADS N-12 pipe, or PVC pipe, or HP pipe, with crushed rock embedment, complete and in place, for HWY HYW	80 LF	\$ 33.7 <i>P</i>	s <u>2702.59</u>
15071D	Dollars and HVenty EIGHT Cents per linear foot	1 297 LF	s /2.78	s 3796, 21
15071E	Dollars and Minchy five	142 LF	\$ <u>1.95</u>	\$ 276,96
	Cents per linear foot		92	

Mineola, Texas

6/18/2013 The Brannon Corporation 13-064 Estimated TOTAL PRICE UNIT PRICE ITEM NO. DESCRIPTION AND UNIT PRICE Quantity Comply with the Erosion Control Plan for paving improvement 1 LS 20000 activities by installing, maintaining, monitoring, and inspecting erosion control devices and pollution prevention devices complete and in place, for two hundred ninety three Cents per lump sum 30000A Provide requisite performance, and payment bond, for five hundred furteen Dollars and Cents per each 30000B Provide requisite maintenance bond, for Dollars and Cents per each 35,000.00 30000C Contingency, complete, for 1 LS \$ 35,000,00 THIRTY-FIVE THOUSAND DOLLARS Dollars and NO Cents per lump sum \$ 711,275.60 TOTAL PAVING AND DRAINAGE IMPROVEMENTS:

13064-Middle-Bid Proposal.xls

The undersigned bidder agrees that he will complete all work on the contract on or before Sunday, August 25, 2013. Bidder further agrees to pay as liquidated damages as hereinafter provided.

In the event of the award of a contract to the undersigned, the undersigned will furnish a Performance Bond, a Payment Bond and a Maintenance Bond each for the full amount of the contract, to secure proper compliance with the terms and provisions of the contract, to insure and guarantee payment to all lawful claims for labor performed and materials furnished in the fulfillment of the contract.

The work proposed to be done shall be accepted when fully completed and finished in accordance with the plans and specifications, to the satisfaction of the Engineer.

The undersigned certifies that the bid prices contained in the proposal have been carefully checked and are submitted as correct final.

NOTE: The prices must be shown in words and figures in the proposal and in the event of discrepancy, the words shall control.

<u>*</u>
dba

The Brannon Corporation 13-064 6/18/2013 Estimated ITEM NO. DESCRIPTION AND UNIT PRICE UNIT PRICE TOTAL PRICE Quantity PAVING and DRAINAGE IMPROVEMENT ITEMS: \$ 8,000.00 \$ 8,000.00 Construction layout staking by RPLS as needed for clearing, 01050 storm sewer, paving, and all necessary items, for LIGHT HOUSAND Cents per lump sum s 2,635.00 s 2,635.00 02000A Furnish and install permanent 4-inch wide white parking lot stripes and markings, without glass spheres, using TT-P-1952 Water Emulsion Base paint, complete and in place, for TWO THOUSAND SIX HUNDRED THIRTY-FIVE Cents per lump sum \$ <u>250.00</u> \$ <u>250.00</u> 02000B Furnish and install permanent 4-inch wide BLUE lane line stripes and markings, for Football Stadium staging lane, without glass spheres, using TT-P-1952 Water Emulsion Base paint, complete and in place, for Dollars and Cents per lump sum \$ 1,250.00 \$ 1,250.00 02000C Furnish and install permanent pavement marking and directional arrows, without glass spheres, using TT-P-1952 Water Emulsion Base paint, complete and in place, for DNE THOUSAND Dollars and Cents per lump sum s 185.00 s 4.070.00 02000D Furnish and install permanent traffic signs with posts, complete and in place, for Dollars and Cents per each s 175.00 s 525.00 02000E Furnish and install permanent handicap signs with posts, complete and in place, for HUNDRED SEVENTY- FIVE Cents per each

The Brannon Corporation 13-064

6/18/2013

	The Brannon Corporation 13-064			6/18/2013
ПЕМ NO.	DESCRIPTION AND UNIT PRICE	Estimated Quantity	UNIT PRICE	TOTAL PRICE
02005A	Furnish all labor, tools, equipment, supervision, and any other requisite necessary for site preparation, including, but not limited to, clearing and grubbing of trees, bushes, undergrowth, stumps, and other vegetation, removal of concrete, and relocating of signs back of proposed curb complete and in place, for TIFTEEN THOUSAND Dollars and Cents per acre	0.75 AC	\$ 15,000.00	\$ 11,250.00
02005B	Remove existing concrete curb and gutter, complete and in place, for FIGHT Dollars and Cents per linear foot	1,540 LF	\$ 8.00	\$ 12,320.00
02005C	Remove existing concrete driveways, complete and in place, for TWENTY - FOUR Dollars and	249 SY	\$ 24.00	s 5,976.00
02005D	Cents per square yard Remove existing asphalt pavement and base, (Salvaged base material may be used for select borrow), complete and in place, for	1,193 SY	\$ <u>1.60</u>	\$ <u>1,908.80</u>
02005E	Dollars and JIXTY Cents per square yard Remove, salvage, relocate, and re-install existing school pole sign, complete and in place, for ONF THOUSAND TWO HUNDRED FIFTY Dollars and No	1 EA	\$ <u>1,250.00</u>	\$ <u>1.250.00</u>
02005F	Cents per each Install and maintain stabilized construction entrance for erosion control, complete and in place, for ONE THOUSAND THREE HUNDRED FIFTY Dollars and	1 EA	\$ <u>1,350.00</u>	\$ <u>1,350.00</u>
02005G	Cents per each Furnish, install and maintain silt fences for erosion control, complete and in place, for THREE Dollars and SEVENTY - FIVE Cents per linear foot	700 LF	\$ <u>3.75</u>	\$ <u>2,625.00</u>

	The Brannon Corporation 13-064	oia, Texas		6/18/2013
ITEM NO.	DESCRIPTION AND UNIT PRICE	Estimated Quantity	UNIT PRICE	TOTAL PRICE
02005H	Furnish, install and maintain inlet sediment traps for erosion control, as required,	8 EA	\$ <u>350.00</u>	s <u>2,800.00</u>
02005J	THREE HUNDRED FIFTY Dollars and No Cents per each Furnish, install and maintain inlet gutter buddy for erosion control, as required, THREE HUNDRED FIFTY Dollars and No	8 EA	\$ <u>350.00</u>	s 2,800.00
02005K	Cents per each Salvage, stockpile and replace existing topsoil on parkways and in landscape areas, complete and in place, for	1 LS	s 7.500.00	s 7,500.00
02200	Dollars and No Cents per lump sum Furnish all labor, tools, equipment, supervision, and any other requisite necessary to perform unclassified site excavation, (density control), (Includes 154 cy for possible undercut), complete and in place, for NINE	2,700 CY	s <u>9. 25</u>	s <u>24,975.00</u>
02221	Dollars and TWENTY - FIVE Cents per cubic yard Provide and install select borrow (density control) from off-site (12-inch depth) to six-inches back of curb for improved subbase material in parking lot, (Minimum CBR=10%) (Quantity calculated on 4372 SY), (Includes an additional 154 cy for undercut), complete and in place, for		\$ 19.00	\$ 30,609.00
02484	Dollars and Cents per cubic yard Furnish and install Bermuda block sod grass, with fertilizer, complete and in place, for Four Dollars and No	1,625 SY	\$ <u>4.00</u>	s <u>6,500.00</u>
02485A	Cents per square yard Furnish and apply seeding for erosion control as required, complete and in place, for THIRTY-NINE Dollars and	20 LB	\$ 39.00	s

6/18/2013 The Brannon Corporation 13-064 Estimated ITEM NO. DESCRIPTION AND UNIT PRICE UNIT PRICE TOTAL PRICE Quantity 300.00 1.50 02485B Furnish and apply fertilizer for erosion control as required, 200 LB complete and in place, for Cents per pound s 111.00 s 50, 283.00 Furnish and install 2-inch compacted thickness Type "D" 02503A HMAC surface course on new parking lot and drives (Quantity measured on 3,737 SY + 10%=4,111 SY) complete and in Dollars and Cents per ton 949 TN \$ 106.00 \$ 100,594.00 02503B Furnish and install 4-inch compacted thickness Type "B" HMAC base course on new parking lot and drives (Quantity measured on 4-inch depth: 3,254 SY + 10%=3,580 SY and 5.5inch depth: 483 SY+ 10%= 532 SY) complete and in place, for ONE HUNDRED SIX Dollars and Cents per ton s 0.18 s 9,656.10 53,645 SF 02511 Furnish and install seal coat surface treatment with 2 courses of rubberized coal tar pitch emulsion, complete and in place, for DIGHTEEN Dollars and Cents per square foot s 18.50 s 42.309.50 03015A Furnish and install standard 6-inch reinforced concrete curb and gutter, complete and in place, for EIGHTEEN

Dollars and FIFTY
Cents per linear foot

03015B Furnish and install standard 6-inch reinforced concrete curb, complete and in place, for

s 6.50 s 3.627.00

Dollars and FIFTY
Cents per linear foot

03015C Furnish and install standard 4-inch (5-ft wide) reinforced concrete sidewalk, with thickened edge, complete and in place, for

Six Pollars and FIFTY

Dollars and TIFTY
Cents per square foot

MINEOLA I.S.D. PRIMARY AND MIDDLE SCHOOL

PARKING AND BUS LANE IMPROVEMENTS

	The Brannon Corporation 13-064	ola, Texas		6/18/2013
ITEM NO.	- Company of the Comp	Estimated Quantity	UNIT PRICE	TOTAL PRICE
03015D	Furnish and install standard reinforced concrete driveway, complete and in place, for	45 SY	\$ 84.00	s _3,780.00
03015E	Dollars and NO Cents per square yard Furnish and install new standard pre-cast concrete wheel blocks, painted, complete and in place, for SEVENTY	з ЕА	\$ <u>70.00</u>	\$ _2/0.00
03015F	Dollars and YO Cents per each Furnish and install standard ADA concrete public curb ramps with 6-inch curbs, complete and in place, for TWO THOUSAND	1 EA	\$ 2000.00	s <u>2,000.00</u>
15068A	Dollars and No Cents per each Furnish and install 18"x18" concrete catch basin or 24" dia Nyloplast catch basin, with traffic rated grate, with 18-inch wide concrete apron, complete and in place, for ONE THOUSAND SEVEN HUNDRED FIFTY	5 EA	\$ 1,750.00	\$ 8.750.00
15068B	Dollars and No Cents per each Furnish and install 30"x30" concrete catch basin or 36" dia Nyloplast catch basin, with traffic rated grate, with 18-inch wide concrete apron, complete and in place, for THREE THOUSAND	1 EA	\$ <u>3,000.00</u>	\$ 3,000,00
15068C	Dollars and No Cents per each Furnish and install 36"x36" concrete junction box, or 36" dia Nyloplast catch basin, with traffic rated grate, with 18-inch wide concrete apron, complete and in place, for THOUSAND FIVE HUNDRED	1 EA	\$ <u>4,500.00</u>	\$ <u>4,500.00</u>
15068D	Dollars and Cents per each Furnish and install 6-ft. concrete curb inlet, complete and in place, for FIVE THOUSAND FIVE HUNDRED Dollars and No Cents per each	1 EA	\$ <u>5,500.00</u>	\$ <u>5,500.00</u>

Mineola, Texas The Brannon Corporation 13-064 6/18/2013 Estimated UNIT PRICE TOTAL PRICE ITEM NO. DESCRIPTION AND UNIT PRICE Quantity 400.00 \$ 1.400.00 1 EA 15068E Modify, raise to final and adjust exsiting 24"x24" concrete catch basin and grate, with traffic rated grate, with 18-inch wide concrete apron, complete and in place, for OUR HUNDRED Dollars and Cents per each \$ 18.75 \$ 3 6 93.75 Furnish and install 8-inch HDPE ADS N-12 pipe, or PVC pipe, or HP pipe, with crushed rock embedment, complete and in place, for Dollars and Cents per linear foot 500,00 25.00 s 20 LF 15071B Furnish and install 10-inch HDPE ADS N-12 pipe, or PVC pipe, or HP pipe, with crushed rock embedment, complete and in place, for Dollars and Cents per linear foot s 30.00 s 2,400.00 15071C Furnish and install 12-inch HDPE ADS N-12 pipe, or PVC pipe, or HP pipe, with crushed rock embedment, complete and in place, for Dollars and Cents per linear foot s 445.50 1.50 15071D Furnish and install select backfill for storm sewer, complete and in place, for Dollars and Cents per linear foot 830.70 585 15071E Furnish and install 2-inch SCH 40 PVC conduits for future irrigation, complete and in place, for

Dollars and LIG Cents per linear foot

The Brannon Corporation 13-064 6/18/2013 Estimated ITEM NO. DESCRIPTION AND UNIT PRICE UNIT PRICE TOTAL PRICE Quantity \$ 1. 250.00 \$ 1. 250.00 20000 Comply with the Erosion Control Plan for paving improvement 1 LS activities by installing, maintaining, monitoring, and inspecting erosion control devices and pollution prevention devices complete and in place, for Cents per lump sum 1EA \$ 1,300.00 \$ 1.300.00 30000A Provide requisite performance, and payment bond, for THOUSAND THREE HUNDRED Dollars and Cents per each 1 EA \$ 5,700.00 \$ 5,700.00 30000B Provide requisite maintenance bond, for Cents per each 30000C Contingency, complete, for 1 LS 35,000.00 35,000.00 THIRTY-FIVE THOUSAND DOLLARS Dollars and NO Cents per lump sum

TOTAL PAVING AND DRAINAGE IMPROVEMENTS:

s 417, 605.85

13064-Middle-Bid Proposal.xls

The undersigned bidder agrees that he will complete all work on the contract on or before Sunday, August 25, 2013. Bidder further agrees to pay as liquidated damages as hereinafter provided.

In the event of the award of a contract to the undersigned, the undersigned will furnish a Performance Bond, a Payment Bond and a Maintenance Bond each for the full amount of the contract, to secure proper compliance with the terms and provisions of the contract, to insure and guarantee payment to all lawful claims for labor performed and materials furnished in the fulfillment of the contract.

The work proposed to be done shall be accepted when fully completed and finished in accordance with the plans and specifications, to the satisfaction of the Engineer.

The undersigned certifies that the bid prices contained in the proposal have been carefully checked and are submitted as correct final.

NOTE: The prices must be shown in words and figures in the proposal and in the event of discrepancy, the words shall control.

Receipt Is Hereby Acknowledged of Addenda to the Contract Document Numbered: N/A

BIDDER:

3457 SHILDH ROAD

Lq L ASPHALT CORPORATION
Company Name

LYLER TEXAS 75707 City, State, Zip

903 561-2887
Area Code and Telephone Number

75-2583822 Federal I.D. Number

RESIDENT